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A environmental trait

gl learned trait

behavioral trait
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Question
Which of the following isaph sical tr

A | |Having Jarge feet and toes

B Staying awake at night

e, Moving quickly through trees v
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Question
A way of acting that an animal does not have to learnis ¢

A instinct

physical trait

enviromental trait
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Question 4

I

\phibians are animals that live .......cceeenn

on land only

in water only

on land and in water

Question

some mammals. Mammals are animals that

image shows

R
are giving birth to live young -
are hatched from €ggs e
are reproduced through budding L e




- G03 37 Science - Inspire : T3-2023-2024
e QIR R T T
]

Question 6
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Which animal goes through a life cycle SIMILAR to the stages of 2

chicken’s life cycle? @
YA
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Butterfly

T

Cat
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qQuestion 7
/
/hich of the following living organisms goes through metamorphosis?
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Butterfly Chicken Cat
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-' Cat

Butterfly
| | Chicken
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Question | 78
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inherited traits VL NG JITE 5

variation traits

adaptation traits
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ed cells from male a

Which of the following DOES NOT ne

parents?

A Giraffe giving birth to live youns
B Budding

C Frog laying €288
| Question 10
’ life cycle?

Which of the following is NOT a stage of Tigers

A Reproduction

B Swimming

C Growth
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tomato plant
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=
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sunflower plant
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tures that make the different organisms shown below unique are
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A | |offsprings

B traits

C| |generations S

|
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Question

k at the table. Which of the following traits best fits in the empty
k a -

2

Inherited Traits
|t
: seed shape | leaf shape
taste of fruit
dry leaves
type of root
_ [number of blooms
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The figure represents an insect life cycle. Label each stage using one
the following terms: .

Larva — Egg — Pupa - Adult
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I.  Which letter represents a plant that has thorns to protect itself?

........................................................................

[I. Which letter represents a plant that has red flower?

...............................................................

[I. Which letter represents a fruit that has yellow color?

V. Which letter represents a fruit that has green color?
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Question I‘ i —
fgure represents two different plants, SRl AT
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kes shorter time to grow?

ooooooooooooooooooooooo
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. Which plant needs more space to grow?
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Which plant represents cherry trees?

oooooooooooooooooooooooooooooooooooooooo

Mention two ways by which the pollen is transferred from the m

part to the female part of a flower.

I..'..QO..I.........O.-................l-.

What role does the fruit play in a plant’s life cycle?
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o End of Question
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